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for the questions

1. Answer the following questiong - 1x7=7

(a)

(b)

(c)

(d)

8A/912

A cell has osmotiC potential of —12 bars
and its pressuré potentia] igs 8 bars.
Find out its water potentig].

Name the element Which forms the core
constituent of the ring gtructure of
chlorophyll.

Name the metal Present in the water
splitting comPleX  aggociated  with
photosynthesis-

What is the site of functioning of
catalase?

( Tum OQver )



2 )

(e) Wthh.iS the most important limiting
factor in photosynthesis?
() Who coined the term ‘vernalization’?

(g) Under water stress condition what is the

mos : i
__ t common amino acid accumulated
in plants?

il following questions : 2x4=8

:Zj il photol‘espiration?

What j .

plaj::s'_;:s the role of molybdenum in

(c) N

fo?-r?}f the essential cofactors required
2 fOrmation of acetyl coenzyme-A.

(d) What ;i
Sndne significance of osmotic

potentig]
Answer an
(@ D Y three of the following : 5x3=15

€scribe ol :

stomkary the role of K* in opening of

(b) Describ
e \

absorptior:he ion Pump theory of salt
(C) Deﬁne

Xenobiot; Stress, Describe briefly
(d) Descrip '€ Stress with example.

Ilbe 3

techniqy fow  radioactive tagging

bidirectioe 18 yged in understanding

plants. B movement of solute in
(e)

Briefly .
explaln the pathway of CAM.

8A/912
( Continued )

4.

_____—--.....--___

(@)

(b)

(c)

8A—4500/912

(3)

How are solutes translocated from
source to sink? Describe the mecha-
nism with modern theory. Justify the
acceptability of the theory. 7+3=10

Or

Mention the Properties of water
important to plants. Justify “Transpi-
ration is a necessary evil”. 5+5=10

Justify “C4 cycle is more efficient than
C4 cycle”. Describe C, cycle with proper
pathway and explanation. 3+7=10

Or

What is the function of electron
transport system mitochondria? How
does it work and from what source it

derive reducing POWer for operation?
3+7=10

Describe the possible role of auxin for
apical dominanc€ and abscission. 5+5=10

Or

dormancy?  Explain the

What 1S _

methods used and Principle involved to

break seed dormancy. 2+8=10
X A &
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